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t Test chart eep6; Equal 9 step grey scaling for fo
8

blackL*N cieLaB=14.4,YN=1.8 and whitd*\y cigL AB=95.99,Y\w=90, normalisation: whitgV
C M Y (o] L

V L o Y M
http://farbe.li.tu-berlin.de/eep6/eep6l Onp.pdf /.psonly vector graphic VG; start output
see similar fileshttp://farbe.li.tu-berlin.de/eep6/eep6.htm
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Equal 9 step grey scaling betweeb* gan=14.4 andL* gqn=95.9, Yoref=3.6, normalisation whiteW

Equal 9 step grey scaling betweeb* gon=14.4 andL* gaw=95.9, Yoref=0.9, normalisation whiteW

L*0an=14.4,L*0a755.2,L* 0an~96.0, Yoan=1.8, Yoau23.1, Yoan=90.0,Coay=Yoaw: Yoan=50.0
L*tan=27.3,L*1au=57.7,L*1an~=96.0, Ytan=5.2, Ytau=25.7, Yiaw=90.0, Gay=Ytaw: Yian=17.3
Regularity index according to ISO/IEC 15775:2022, annex G for 5 and 9 steps
g* = 100 PAL* min] / [AL* max], L* cieLas = 116 [Y/Y,]1/3 - 16 with Y >= 0,882,Y,=100

g%= 99, g%= 99 g%= 67, g%= 59 9%= 96, g%5= 95

L*0an=14.4,L*0a=55.2,L*0an=96.0, Yoan=1.8, Yoau=23.1, Yoanw=90.0,Coay=Yoaw: Yoan=50.0
L*tan=18.7,L*13u=55.9,L *1an=96.0, Yan=2.7, Y1a=23.8, Y;aw=90.0,Ciay=Yiaw: Ytan=33.6
Regularity index according to ISO/IEC 15775:2022, annex G for 5 and 9 steps
g* = 100 PL* min] / [AL* max], L* cieLas = 116 [Y/Y,]1/3 - 16 with Y >= 0,882,Y,=100

9%= 99, g%5= 99 g%= 87, g%5= 83 g%= 98, g%= 97

L*cieLaB  intended output real output linearized output L*cieLag  intended output real output linearized output
n0.i L*0a L*Or YOa YOr ;L*a AlL*a L*r Yta (L*tr) 1118 *a AlL*la n0.i L*0a L*Or YOa YOr ;L*a Al*a L*r Yta (L*tr) 1106 *a Al*a
120+ ; 120+ ;
90*09 9.0 1.0 900 1.0 96.0 o8 10 900 1.0 96.0 90*09 96.0 1.0 900 1.0 96.0 101 1.0 900 1.0 96.0 06
8 858 0.875 67.6 0.74§ 86.2 07 0.858 68.4  0.878 87.6 85 8 858 0.875 67.6 0.7436 85.9 100 0.869 67.8  0.876 86.4 06
7 756 075 492 o.53§ 76.6 o5 0.717 50.8  0.754 79.1 86 7 756 075 49.2 0.539 75.8 100 0.739 496  0.751 76.8 07
60+ (D6 654 0625 345 0.3711 67.0 03 0.579 36.7  0.628 70.4 67 60+ ()6 654 0625 345 0.3711 65.8 09 061 351  0.626 67.1 o7
@5 552 05 231 0.24g 57.7 0.443 257  0.501 61.7 68 @5 552 05 231 o.24g 55.9 0.481 238 05 57.4 o8
@+ 450 0375 145 0.144 488 0.313 17.4  0.373 52.9 8'7 @+ 450 0375 145 0144 46.0 0.354 153  0.374 47.6 9'7
30*.3 348 025 84 0075 405 0192 115  0.246 44.2 8'5 30*.3 348 025 84 0075 364 0.229 9.2 0.248 37.8 9'6
@2 246 0125 43 0.02? 33.1 0.085 7.6 0.123 357 @2 246 0125 43 0.025 27.1 0.109 5.1 0.123 282
@: 144 00 18 00 27.3 00 52 0.0 27.3 @: 144 00 18 00 18.7 00 27 0.0 18.7
o~ * = i 3 lisation: Yiain=Ynoy, Yoait Yoref o~ * - 3 lisation: Yiany=Yoau Yoait Yoref
AL*p4=10.2 (i=1,2,..,8) i norma isation: Yiaiw= 0aW - FYoref AL*p5=10.2 (=1,2,..,8) i norma Isation: Yiaiw= 0aW L FYoref
eep60-3n eep61-3n

Equal 9 step grey scaling betweeh*ogN=14.4 andL* gaw=95.9, Yoref=0.4, normalisation whiteW

Equal 9 step grey scaling betweeh*ogN=14.4 andL* gan=95.9, Yoref=1.8, normalisation whiteW

L*gan=14.4,L*0a=55.2,L*0an=96.0, Yoan=1.8, Yoau=23.1, Yoan=90.0,Coay=Yoaw: Yoan=50.0
L*taN=16.5,L*au=55.5,L*1aw=96.0, ¥ian=2.2, tau=23.4, taw=90.0, Gay=Yaw: Ytan=41.1

Regularity index according to ISO/IEC 15775:2022, annex G for 5 and 9 steps
g* = 100 PL* min] / [AL* max], L* cieLAB = 116 [Y/Yn]13 ~ 16 with Y >= 0,882,Y,=100
g%5= 99, g%= 99 g%5= 93, g%=91 g%= 98, g'y= 98

L*ganm14.4,L*0a=55.2,L*0an=96.0, Yoan=1.8, Yoau=23.1, Yoan=90.0,Coay=Yoaw: Yoan=50.0
L*tan=22.0,L*1au=56.5,L*1an=96.0, Yian=3.5, tau=24.4, taw=90.0, Gay=Ytaw: taN=25.5

Regularity index according to ISO/IEC 15775:2022, annex G for 5 and 9 steps
g* = 100 PAL* min] / [AL* max], L* cleLag = 116 [Y/Yn]1/3 - 16 with Y >= 0,882,Y,=100
g%= 99, g'y= 99 g%=79, g'y= 72 g%5= 97, g%= 96

L*cieLaB  intended output real output linearized output L*cieLag  intended output real output linearized output
n0.i L*0a L*Or YOa YOr ;L*a AL*a L*r Yta (L*tr) 1103 *a Al*a n0.i L*0a L*Or YOa YOr ;L*a AlL*a L*r Yta (L*tr) V11 L*a Al*a
120+ : 120+ :
9 9.0 10 900 10| 96.0 10 900 1.0 96.0 9 960 10 900 10! 96.0 1.0 900 10 96.0
90 O 3 10.1 9.9 90 O 3 10.0 9.1
8 858 0875 67.6 0.746 858 o4 0.872 67.7  0.875 86.1 0o 8 858 0875 67.6 0.746 86.0 0.865 68.0  0.877 86.9 0
7 756 075 492 0538 75.7 10'1 0.745 49.4  0.75 76.1 9'9 7 756 075 492 0538 76.1 0.731 50.0  0.753 77.7 9'3
6oL @6 654 0625 345 0371 65.6 10'1 0.618 348  0.625 66.2 160 6oL @6 654 0625 345 0371 66.2 0598 356  0.627 68.4 9'3
@5 552 05 231 0242 555 10'0 0491 234 05 56.2 10'0 @5 552 05 231 0.242 565 0.466 24.4  0.501 59.1 9'4
@+ 450 0375 145 o0.144 45.595 0365 149  0.374 46.2 10'0 @+ 450 0375 145 0144 470 0337 16.0  0.374 49.7 9'4
30*.3 348 025 84 0075 355 024 88 0.248 36.2 ) 30*.3 348 025 84 0075 378 0.213 10.0  0.247 403
; 9.7 9.9 : 8.5 9.2
@2 246 0125 43 0028 25.893 0.117 47 0.124 26.3 o @2 246 0125 43 0028 293 0.098 6.0 0.122 31.1 o1
@: 144 00 18 00! 165 0.0 22 0.0 165 @: 144 00 18 00! 220 0.0 35 0.0 22.0
o~ AL*n.=10.2 (i=1,2,....8) normalisation: Yiaiw=Yo WY03i+Y0f6f o AL*.=10.2 (i=1,2,...,8) normalisation: Yiaiw=Yo WYOai+Y0f8f
=10. =1,2,..., : - Ytaiw= VST Vs =10. =1,2,..., : * Ytaiw = /e Vi
Oa : a AV Yoaw Yoret 0a : a AW Yoaw Yoref
eep60-7n eep61l-7n '
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